Puissances de Dix (F)

Trouvez chaque produit ou quotient.

65 % 0,1 = 1x0,1=
24 x 0,001 = 35+0,01 =
98 - 0,001 = 80+ 0,01 =
52 +0,01= 27 +0,1=
93+ 0,001 = 98 x 0,001 =
43 x 0,01 = 31+ 0,001 =
13 x 0,01 = 80+ 0,01 =
51 x 0,001 = 12 % 0,1 =
4x%x0,1= 19 X 0,001 =
64 x 0,1 = 27 x 0,001 =
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Puissances de Dix (F) Solutions

Trouvez chaque produit ou quotient.

65x0,1=6,5

24 x 0,001 =0,024

98 +- 0,001 =98 000

52 +0,01=5200

93 + 0,001 =93 000

43 x0,01=0,43

13x0,01=0,13

51x 0,001 =0,051

4x01=04

64 x0,1=6,4

1x01=0,1

35+0,01 =3500

80+ 0,01 =8000

27 +0,1=270

98 x 0,001 = 0,098

31+0,001=31000

80+ 0,01 =8000

12x0,1=1,2

19 x 0,001 =0,019

27 X 0,001 =0,027
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